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QUESTION 1

You have been monitoring your company\\'s applications running in Oracle Cloud Infrastructure (OCI) and notice that
the application is using OCI Traffic Management service. This service uses a traffic steering policy to distribute the DNS
traffic based on subnet addresses in a rule set.

Which steering policy is in use in this particular case? (Choose the best answer.)

A. Load Balancing policy

B. Geolocation steering

C. ASN steering policy

D. IP Prefix steering

Correct Answer: C

Reference: https://k21academy.com/1z0-997/traffic-management-in-oci/

QUESTION 2
One of your development teams has asked for your help to standardize the creation of several compute instances that
must be provisioned each day of the week. You initially write several Command Line Interface (CLI) commands with all

appropriate configuration parameters to achieve this task later determining this method lacks flexibility.

Which command generates a JSON-based template that Oracle Cloud Infrastructure (OCI) CLI can use to provision
these instances on a regular basis? (Choose the best answer.)

A. oci compute instance create — —generate—cli—skeleton

B. oci compute instance launch — —generate—cli-skeleton

C. oci compute provision—instance — —generate—full-command—json—input
D. oci compute instance launch — —generate—full-command—json—input
Correct Answer: D

Reference: https://docs.oracle.com/en-us/iaas/Content/API/SDKDocs/cliusing.htm

QUESTION 3

You have a 750 MIB file in an Oracle Cloud Infrastructure (OCI) Object Storage bucket. You want to download the file in
multiple parts to speed up the download using the OCI CLI. You also want to configure each part size to be 128 MIB.

Which is the correct OCI CLI command for this operation? (Choose the best answer.)

A. oci os object get —ns my—namespace —bn my—bucket —name my-large—object —multipart—download- threshold 750
—parallel-download—count 128
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B. oci os object download —ns my—namespace —bn my-bucket —name my-large—object —multipart—
download-threshold 750 —parallel-download—count 128

C. oci os object download —ns my—namespace —bn my—-bucket —name my-large—object —resume—put
—multipart—-download—threshold 500 —part—size 128

D. oci os object get —-ns my—namespace —bn my—bucket —name my-large—object —multipart—download- threshold 500
—part—size 128

Correct Answer: D

Reference: https://docs.oracle.com/en-us/iaas/Content/API/SDKDocs/cliusing.htm

QUESTION 4

Multiple teams are sharing a tenancy in Oracle Cloud Infrastructure (OCI). You are asked to figure out an appropriate
method to manage OCI costs.

Which is NOT a valid technique to accurately attribute costs to resources used by each team? (Choose the best
answer.)

A. Create a Cost-Tracking tag. Apply this tag to all resources with team information. Use the OCI cost analysis tools to
filter costs by tags.

B. Create separate compartment for each team. Use the OCI cost analysis tools to filter costs by compartment.

C. Create an Identity and Access Management (IAM) group for each team. Create an OCI budget for each group to
track spending.

D. Define and use tags for resources used by each team. Analyze usage data from the OCI Usage Report which has
detailed information about resources and tags.

Correct Answer: C

QUESTION 5

Which option contains the essential components of the Oracle Cloud Infrastructure Notifications service? (Choose the
best answer.)

A. An ALARM with a name unique across the tenancy, a SUBSCRIPTION, and a METRIC with the measurement of
interest.

B. A TOPIC with a name unique across the tenancy, a SUBSCRIPTION, and a MESSAGE where content is published.

C. A TOPIC with a name unigue across the compartment, a SUBSCRIPTION, and a MESSAGE where content is
published.

D. An ALARM with a name unique across the compartment, a SUBSCRIPTION, and a METRIC with the measurement
of interest.

Correct Answer: D
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